
2022 International Collegiate Programming Contest, Jinan Site
Qilu University of Technology (Shandong Academy of Sciences), November 27, 2022

Problem M. Best Carry Player
Input file: standard input

Output file: standard output

Time limit: 1 second
Memory limit: 512 megabytes

Prof. Pang is given n numbers a1, . . . , an. It is easy to add the numbers up using a computer. But Prof.
Pang treasures his computer so much and wants to reduce its workload. He decides to simulate the
following program by hand.

Algorithm 3 Sum of elements
1: s← 0
2: for i from 1 to n do
3: s← s+ a[i]
4: end for

Unlike a computer, the time needed for Prof. Pang to simulate the program is proportional to the total
number of carries1 when calculating s+a[i] for each i from 1 to n. Prof. Pang adds numbers by column
addition in base-ten, just like what we normally do in primary school. For example, there are two
carries in the following addition.

Please permute the array a1, . . . , an so that the total number of carries when Prof. Pang simulates the
program is as small as possible. (By “permute an array”, we mean that you can change the order of the
elements arbitrarily.)

Input
The first line contains one integer T (1 ≤ T ≤ 105), the number of test cases.

For each test case, the first line contains one positive integer n (1 ≤ n ≤ 105). The next line contains n
integers a1, . . . , an (1 ≤ ai ≤ 109) denoting the numbers Prof. Pang is given.

It is guaranteed that the sum of n over all test cases is no more than 105.

Output
For each test case, output one line containing the minimum amount of carries.

Example
standard input standard output

2

3

9 99 999

1

12345

5

0

1which means “进位” in Chinese
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